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— ~ A people throws one dice twice - the number will be denoted by (x1, X2). 15%

supposed event B1{(x1, x2) | x1>=2*x2}, and E2(x1, x2) | x1+4%x2=9},

1)List all possible combinations (xi, xz) of for event E1 and E2. 4%

2)List all possible sequences (x1, x2) in E1 nE2. 4%

3)Find out the probability P(E1) and P(E2 ~E1) 7%

— ~[Exact cover] Let U={1,2,3,4,5,6,7,8} ,subset A={2,5,7},B={1,2,3, 4, 8}, 20%

C={3,4,6,8}, D={2,5,6,7}, E={4, 6, 8}.

1)Please give the algon'tﬁm X for . Exact cover 8%

2)find the matrix M for presenting all the subsets above. 4%

3)Apply algorithm X to find an exact cover. 8%

(ps. All the procedures must be held in your answer sheet.)

= ~ A digraph picture R is shown in right side. 25%
1)what are the in-degree and out-degree for all the vertices. 5%
2)Show the matrix Mg for the digraph. 5% \ ( 3
3)find Mg? 5%
4)Please describe the definition of M g™ and then find 4 - 10%
I8~ DD=Jefst > ii) n-tree Z B - B LU tree 5 m & » 553K ARSI BT S5 2 S AR BL LB /N ETRERY - 15%
| (HRAES root 3 5% 1 /8) 10%
' 2):itHA Buler path 4 o 5%
A WA HER S=152)/ @+ +5%(6/7) 25%
)i H EE BB — Je i (binary tree) 7%
2)eR RSt preorder JEEA Y HEEHS - 6%
3)sR K postorder JHELAERG LS - B HES) &R - 6%

4) inorder I EEAT HAEEY S35 , 6%




